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Off L4 X1 2t 12,529,916 12,557,743 AN 27,827
= 2,288,939 2,289,189 A 250
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01 X SHHX2E = 691,569 691,891 A 322

OMel=&1 o h=me AMTHMNUX 25 691,569 691,891 A 322

AMSISXAIE B2 4X 209,115 210,064 A 949

403 A X EHHS =0l A 209,115 210,064 A 949

01 X EHHMA=E L 209,115 210,064 A 949
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Foo =Y OS2 EXXNE AHY 49,920 64,800 A 14,880
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W& s (0l X2t 40,015 9,295 30,720
BENE(SENE NN AEAH SE3H) 40,015 9,295 30,720
208Xz BHES 40,015 9,295 30,720
802 BHEt= DI EF 40,015 9,295 30,720
01 22X 3eeE= 40,015 9,295 30,720
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L= 7,220 0 7,220
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20228 =4 3 3 SENE KNANRALAM SE3H &l

SN BFAHBLIY

Fu: HII20 oFN Mol ¥ me
ool HII2O SHEE Mol ¥ BR(SEUY NANRALA SE3H) (el @ e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
212 0HH 22| It 390,000 910,000 £520,000

= 300,000 700,000 £.400,000

< 90,000 210,000 120,000

HOI22 oHEE Hel ¥ e 390,000 910,000 520,000

= 300,000 700,000 400,000

= 90,000 210,000 120,000

Hol2e 9EE Mol ¥ Tel(SHK NS 390,000 910,000 520,000
EEER D

2 300,000 700,000 400,000

= 90,000 210,000 A 120,000
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